13.1.21
WALT Recall and, Use Multiplication Facts for the
/ % Table
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Count inv /s
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Fact Families
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Fluency |

. Complete the, number track by, counting irnv 7s.
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Reasoning |
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each chair i the halls

Irv the hall, there: are. 7 rows of chairs and, there are. 9 chairs inv eachs row.
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Does this pattern continue withs 3-digit: numbers when you keeps counting in 757

Problem Solwing 2
o4 42 |7 /8 35 32

Which numbers car be, divided, equally by 77 dengn-whnﬂw?
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tables, g,owcould/use/ Hit the Button,.
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https://www.topmarks.co.uk/maths-games/hit-the-button
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de
Billy shares his sweels equally so he divides 56 by /.
56 = /=8 Bily has 8 packels of sweels.

Reasoning 2
Mmﬂ?mo}qm I %xY9=63
Sﬂ;ﬂlﬂ‘&ﬁﬁdﬂrh&ﬂﬁtmﬂﬁtég pmpl&mtc}ung,ﬂwplag;

Each tickel costs £2: 63 %2 =126

Su;ﬂwnm:mmmmnomi)ﬂlﬂbﬂ( cmnm.kf,i&ﬂ:?f).



Pnobl.exmsolw
O 7 14 21 28 35 42 49 56 63 /0 7] 84

The cluauL& in the ONES column alternate: between hang; EVEN and ODD.
The pattern continues: EVEN ODD EVEN ODD..

Problem. SQI-M_Z
oS54 42 [/ /8 35 32

The onliy numbers that are multiples of, 7 are: 42 and, 35

Mbestwag;todwchﬂm?mm&mtﬂmmb@h?ﬂ(mdes&wwnhmdg
know your /x table).



